
p 7 of 7

6. A heavy symmetric wheel,' mass m and rotational inertia I, rotates freely with a high

angular speed (0 about a light central shaft, with one end attached at a frictionless pivot
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point to a wall. The other end is held by a hand.
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A. (6 pts) What force must the hand supply to hold the system fixed?

j\lo 1)..L.f ~1~ I C\.cc~l~J .6y

N"..,...) ~ f f c:v ~ + N ~ J 1/'1..c.I"t J. ~

~
:-md )

rkJ Aa-frJ' J~~(..L (~ ...4L.( ~ t(,

,~. t ) """" v ~ #\A.. f ~ ~ t\J ;f ~ C..j. J

)\ ~ .J I" ~ a,..., A. a : ,
.P, N I,.,.~ ~" ~ ~ ~1 ec.r ..

"'t(b) +Iw2/r k .

~
"

(d)mgj.

'-'1,.f'force must tIle hand exelt on the sJ,4fend ?
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